
Connection #

Component #

Work Order #

MOSSINC.COM
CONTACT US: (800) 341-1557
AFTER HOURS: (877) 214-2986

CLIENT:
Moss Inc

CURRENT REVISION: 
6

Project Manager:
-
W.O.DESCRIPTION:
Crescent Room

PROJECT:
Crescent Room

W.O.#:           
LINE ITEM #:

DESIGNER: 
Joe Brooks PreDesign

-

- Wrench
- Gloves
- Wash Cloth
- 303 Cleaner
- Plastic Drop Cloth

Moss provides:

Assembly Instructions

GENERAL INSTRUCTIONS:
- Wipe down all tubing, clean work area and 
lay out plastic sheeting.
- Repack fabric neatly in the bag provided.

WORKMANSHIP GUARANTEE:
Moss fully guarantees all products against 
defects in workmanship.  If our products 
receives proper care, but fails due to a 
defect in manufacturing, the product will be 
repaired or replaced at our discretion.  For 
damage to products caused by accidents, 
improper care or negligence, where Moss is 
not at fault (including sun degradation and 
wear and tear) repairs will be performed for 
a reasonable fee.

WARNING:  Hanging system and structure 
are  designed for: 
(1) indoor use only and (2) to hold the 
weight of the structure and fabric cover only.  
No other loads should be applied to 
this display system. 

2

Crescent Room

ve
rs

io
n 

2



Connection #

Component #

Work Order #

MOSSINC.COM
CONTACT US: (800) 341-1557
AFTER HOURS: (877) 214-2986

CLIENT:
Moss Inc

CURRENT REVISION: 
6

Project Manager:
-
W.O.DESCRIPTION:
Crescent Room

PROJECT:
Crescent Room

W.O.#:           
LINE ITEM #:

DESIGNER: 
Joe Brooks PreDesign

-

Do Not Mix Component #'s
No "Dumping"!

Assembly Instructions Crescent Room

You Will Need:

You Will Need:
You Will Need:



CONNECTION
SNAP-BUTTON

CONNECTION
BOLTED

Do Not Mix Component #'s
No "Dumping"!

MOSSINC.COM
CONTACT US: (800) 341-1557
AFTER HOURS: (877) 214-2986

CLIENT:
Moss Inc

CURRENT REVISION: 
6

Project Manager:
-
W.O.DESCRIPTION:
Crescent Room

PROJECT:
Crescent Room

W.O.#:           
LINE ITEM #:

DESIGNER: 
Joe Brooks PreDesign

-

Top Rail 
x2

Side Rail 
x2

Door Rail 
x2

Bottom Rail 
x2

A1

B1

C

D
D1

C3C4

NOTE: Numerical labels indicate bolted connections.  Align matching labels with one another.

Door Rail 
x1

V-Rail
X6

13

2

3
4

5 6

8
7

9 10

11
12

13
14

12

11

10
9

8

7

6

14

15

Bottom Rail
X7

1

5

1
Snap together shock corded frame sections, then assemble Top Rail & bottom Rails frame as shown following the Alphabetical 
labels.  Assemble remaining bottom Rails frame & bolt internal framing in place, following the Numerical labels.

NOTE: Alphabetical labels indicate non-corded snap button connections. Align matching labels with one another.

Lay out plastic sheeting, apply gloves to all hands.  Unpack all boxes, remove all framing and components according to line item #. 

C1

B

A

Step

Assembly Instructions Crescent Room

You Will Need:

You Will Need:
You Will Need:

Before You Start:



INSTALLATION
COVER

PILLOWCASE

GLOVES

MOSSINC.COM
CONTACT US: (800) 341-1557
AFTER HOURS: (877) 214-2986

CLIENT:
Moss Inc

CURRENT REVISION: 
6

Project Manager:
-
W.O.DESCRIPTION:
Crescent Room

PROJECT:
Crescent Room

W.O.#:           
LINE ITEM #:

DESIGNER: 
Joe Brooks PreDesign

-

X

X

X

X

2

Wipe down all aluminum framing. Lay down plastic drop cloth. Put on supplied gloves.  Remove fabric cover from storage bag 
and verify proper orientation.
Carefully and evenly orient the fabric laying out on the floor, locale the "Place Fabric Tab Here" as your starting point.  Evenly 
start to wrap and pull the cover around the bottom of the frame. Align openings along the bottom at each Side Rail & V Rail Legs 
to pass through the bottom fabric edges.  Pull the cover up to the top as evenly as you can.  As you go, there are (2) vertical 
zipper tunnels marked with X  at the Side rails.  Zip along the Side Rails as you pull up to the top.
 Zip cover closed along the top edge of frame as shown.  Zipper location and orientation is shown in Heavy dashed lines.  Start 
all zippers before closing any one completely.

Fabric tags align with "Place Fabric Tag Here" label on frame.

Step

Assembly Instructions Crescent Room

You Will Need:

You Will Need:
You Will Need:



MOSSINC.COM
CONTACT US: (800) 341-1557
AFTER HOURS: (877) 214-2986

CLIENT:
Moss Inc

CURRENT REVISION: 
6

Project Manager:
-
W.O.DESCRIPTION:
Crescent Room

PROJECT:
Crescent Room

W.O.#:           
LINE ITEM #:

DESIGNER: 
Joe Brooks PreDesign

-

1/4-20 x 1'' Flat Head Machine Screw
thru the Glide Bracket into a rivnut installed
in the Door Rail (2) Required

Glide Bracket

3

Install the Glide Bracket as shown.

Fabric tags align with "Place Fabric Tag Here" label on frame.

Step

Assembly Instructions Crescent Room

You Will Need:

You Will Need:
You Will Need:



MOSSINC.COM
CONTACT US: (800) 341-1557
AFTER HOURS: (877) 214-2986

CLIENT:
Moss Inc

CURRENT REVISION: 
6

Project Manager:
-
W.O.DESCRIPTION:
Crescent Room

PROJECT:
Crescent Room

W.O.#:           
LINE ITEM #:

DESIGNER: 
Joe Brooks PreDesign

-

CONNECTION
MAX CORNER

16

17

19

18

Top Rail

Bottom Rail

Side Rail 
x2

Track Bracket: Exploded View

Track Bracket:
Pre-installed on the Top Rail of the Door.
If needed, see the Exploded views to re-install
to the Top Rail.

10-32 x 1 1/8'' Socket Head
Cap Screw (3) required
[Socket head is on the concave 
Side of the door.]

Roller
(2) required

Ball Bearing
(2) required

Track Bracket
(2) required

10-32 Lock Nut w/ nylon insert
(3) required

[Nylon Nut is on the convex
Side of the door.]

Top Rail

Door Track

4

Assemble the door as shown.  Lock the Side rails to the Top & bottom rails.  Each Side Rail spans between the Top & Bottom 
Rails.

Step

Assembly Instructions Crescent Room

You Will Need:

You Will Need:
You Will Need:



GLOVES INSTALLATION
COVER

PILLOWCASE

MOSSINC.COM
CONTACT US: (800) 341-1557
AFTER HOURS: (877) 214-2986

CLIENT:
Moss Inc

CURRENT REVISION: 
6

Project Manager:
-
W.O.DESCRIPTION:
Crescent Room

PROJECT:
Crescent Room

W.O.#:           
LINE ITEM #:

DESIGNER: 
Joe Brooks PreDesign

-

1/4-20 x 1 1/2'' Flat Head Machine Screw
thru the Glide Rail into the Bottom Rail

of the door.  (2) required

5

Wipe down all aluminum framing. Lay down plastic drop cloth. Put on supplied gloves.  Remove fabric cover from storage bag 
and verify proper orientation.
Carefully and evenly pull cover around the bottom of the frame. Pull the cover up to the top.  Zip cover closed along the top edge 
of frame as shown.  Zipper location and orientation is shown in Heavy dashed lines.  Start all zippers before closing any one 
completely.
Bolt the Glide Rail in place to the Bottom rail, thru the burn holes in the fabric as shown.

Step

Assembly Instructions Crescent Room

You Will Need:

You Will Need:
You Will Need:



MOSSINC.COM
CONTACT US: (800) 341-1557
AFTER HOURS: (877) 214-2986

CLIENT:
Moss Inc

CURRENT REVISION: 
6

Project Manager:
-
W.O.DESCRIPTION:
Crescent Room

PROJECT:
Crescent Room

W.O.#:           
LINE ITEM #:

DESIGNER: 
Joe Brooks PreDesign

-

Delrin Spacer
(1) Required

1/4-20 x 2 1/2'' Flat Head Machine Screw
thru the Track Rail & thru the Delrin Spacer

into a rivnut installed in the Top Rail
of the Room (1) Required

Door Track[ Section #1]

6

Unpack the Door Track Rails.  Slide the Door Track Section #1 thru the Track Brackets installed on the
Top Rail of the door as shown.
Lift, & Raise the Door and Door Track in place, bolt to the Main Room as shown using Delrin Spacers
& bolts.
NOTE:  Position the Right side Track Glide to the Right of the delrin spacer.

Step

Assembly Instructions Crescent Room

You Will Need:

You Will Need:
You Will Need:



MOSSINC.COM
CONTACT US: (800) 341-1557
AFTER HOURS: (877) 214-2986

CLIENT:
Moss Inc

CURRENT REVISION: 
6

Project Manager:
-
W.O.DESCRIPTION:
Crescent Room

PROJECT:
Crescent Room

W.O.#:           
LINE ITEM #:

DESIGNER: 
Joe Brooks PreDesign

-

Door Track[ Section #2]
Bolt in place to Section #1

Delrin Spacer
(1) Required

1/4-20 x 2 1/2'' Flat Head Machine Screw
thru the Track Rail & thru the Delrin Spacer

into a rivnut installed in the Top Rail
of the Room (1) Required1/4-20 x 1/2'' Flat Head Machine Screw

thru the Track Rail & thru the Delrin insert
to connect Section #1 & #2 together

(2) Required

7

Bolt Section #1 &#2 of the Door Track together as shown.  Install the Delrin spacer & bolt
to connect Section #2 of the Door track to the main room Top Rail.

Step

Assembly Instructions Crescent Room

You Will Need:

You Will Need:
You Will Need:


	COVER
	Drawing View1
	Drawing View2

	PARTS LIST
	steps-1 window step 1
	Drawing View3
	Drawing View30

	steps-1 window step 3
	Drawing View7
	Drawing View31

	steps-1 window step 3(2)
	Drawing View8
	Detail View A (1 : 2)

	steps-1 window step 3(2)(2)
	Drawing View10
	Detail View B (1 : 2)
	Drawing View16
	Drawing View29

	steps-1 window step 3(2)(2)(2)
	Drawing View17
	Drawing View20
	Detail View C (1 : 2)

	steps-1 window step 3(2)(3)(2)
	Drawing View25
	Detail View A (1 : 3)
	Drawing View28

	steps-1 window step 3(2)(3)
	Drawing View22
	Detail View A (1 : 3)
	Detail View E (1 : 3)


